Errata for Second Corrected Printing of Essential Topology, M. D. Crossley, Springer (2007).
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AS PRINTED

d=1/4
points of length 1
if B is closed

0, {a}, {8}, {a,b}, {c}, {a.b,c}
are either ... is 1.

z,y €A

function

t=t'=1lort=t=0

1 on z-axis

(0,1) is homotopy to

a space (2 occurrences)

F(t,0) = f(g9(0)) and F(¢,1) =t
forallteT.

p(t)=1ifte U, p(t) = —1ifteV.

h(z) = p(F (v, z))
F(v,0) = f(g(0)) €U
L,....I,.

x (4 occurrences)

will assume that
stereographic projection

V-1 — Vi
If kK > 0 the interior ...

SHOULD BE

d =1/5 (and consequent changes!)

points with distance 1 from the origin

if every point in T is contained in one of the
subsets in B and B is closed

0, {a}, {a,b}. {c}, {a,c}, {a, b,c}.

either agree, or one is 0 and one is 1.
z,2yeAorax =y

continuous function

t=t'=1lort=t =0or ((z,y),t) = ((«',¢), )
2

(0,1) is homotopy equivalent to

a discrete space

F(z,0) = f(g(z)) and F(z,1) ==

forall x € T.
plz)=1ifzeU,plx)=-1ifzeV.

h(t) = p(F(v,1))

F(0,0) = f(g(v)) € U

Ii,...,I,, which we assume to be minimal.

s,

will first prove this for functions f, g that satisfy
a version of stereographic projection scaled
appropriately to map the upper tropic to the circle
of radius 1 and the lower to the circle of radius %
Vg — Vg—1

The interior is the complement of the boundary.
For a O-simplex (i.e., a point) the boundary is
empty and the interior is the whole simplex.

A much shorter and simpler proof is possible, and the proof given is probably not even correct

a space
f,9: 5" — (X,x)
(f#g)(slv~~'a5n)

fe(Gr) + [ (G2)

element of 7, (X)

that; because

p(1) = (1,0).

Bi € m(U) or B; € m (V)

S™ is path connected.

a Hausdorff space

fag : Sl - (X,ZL’())

(g#f)(slv LR} Sn)

This error causes too many later problems to list
filin] + filda]

element of m,(Y)

that, because

p(1) = (1,sin(1)).

Bi is in ju(m (U)) or ky(m1(V)), where

Je 1 m(U) = m(X) and ky : m (V) — 71(X) are
the homomorphisms induced by the inclusions
S™ is path connected for n > 1.

Proof of Prop 9.7 proves the analogous statement for singular homology and should be replaced

Exercise 9.5 should be deleted
f: A% — X is a 3-simplex
then d5(f) is the 2-chain
d3(f)

if f: A* — X is a 4-simplex
then d5(d3(f)) is the 2-chain
ZTn (4 occurrences)

an n-simplex f: A" — X

For each n > 0,

f: A% — X is a 2-simplex

then d(f) is the 1-chain

52(f)

if f: A% — X is a 3-simplex
then d(d3(f)) is the 1-chain
Tn-1

an n + l-simplex f: AT — X
For each n > 0,
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11%*

-15

17*

the sum of the groups H;(P;)
another pointed map

Culf) (@)

By adding these composites
(cx1)oay

QAP AT T

P, =
g(ox) — f(ox),
soi1ohy,...,s0i410h;

composing sds

the direct sum of the groups H;(P;)
another continuous map

Crn1(f)(@)

By taking the corresponding linear combination of these

(o xid) o oy

oy € Cn_H(An X I)

D, (0) =

glo) — 1(o),
soi10hy,...,801450 hg
composing with sds

The right most arrows need to swap destinations

[b1, bs]

Sdnfl((sn(ldn)) =sdp_10 Z?:0<_1)idi

he in sd,

[v1, b3]

sdn1 (00 (id))

sdn,l(én(zdn)) = Z?:O(—l)idi o Sdn,1
he od™ in sd,, o d™

Most of the details of this proof need revising, though the ideas are correct

of H,(UNYV)

in B,(UNV)

modulo Im ;41

in H,(UNYV)

some disc

in Example 8.18

they you can rely on its
R — {—1,+1}

two points

point.

independent of 7 if

group with two elements if Z/2

No. No. Yes. No.

(1) 0. (2) —2. (3) 0.

8.3

8.5

(R® =" {0})(2 occurrences)

of Hn—l (U n V)

in anl(U N V)

in anl(U N V)

in Hn_l(U N V)

some closed disc

in Example 10.23

then you can rely on its

R2 - {(_170)’ (1’ 0)}

two distinct points

point, and adjusting higher dimensional simplices
that have this simplex as a subsimplex in a similar
way

independent of j if

group with two elements is Z/2

Yes. No. Yes. No.

(1) 1. (2) 0. (3) 0. (4) —2. (5) 0.

8.2

8.4

(R* - {0})

A * indicates that the error occurs in a diagram or displayed formula.

A - means counting from the bottom of the page.

Last updated April 30, 2010.



The following corrections to the first edition were incorporated into the second printing (page num-
bers refer to first edition):
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LINE AS PRINTED

11%*
10
15%
-7
3
-6*
9*
-7
30

d=x—2

g(f(r)

y=a+b+9d+uz.

as it contains u.

as happens with

describing maps from product
X/A is homeomorphic to S*.
whenever z ~y }

either L or R).

by a suitable version of the

1—t+tx
2
degree n

contains Bs(x,y).
x € 52 such that v(x) = 0.
f(xy) = (2, —y)

7 — 1-simplex.

ifs,, < %

When t = 0, Fis1,5s2,0)

if s > %

both definitions gives

= (vg —v1) + (vo — v2) + (vg — v1) =0,

two elements if Z/2,
gluing lemma, 86

Last updated April 30, 2010

SHOULD BE
Opg =2 —2
g(f(r))

y=a+b+9—uz.

as u is in the image of f.

as

describing maps to product
X/A is homeomorphic to S2.
whenever x ~ y.

either L or R) or z = y.

degree n, by Example 6.27.

contains Biin(s,r) (T, Y)-

(7,y,z) € S% such that v(z,y,2) = 0.

f(x,y) = (—z,—-y)

j — l-simplex (unless j = 0, in which case SNT
contains at most a single point, which is contained in
the interior of T', so it cannot be contained in the
interior of S, and must, in fact, be one of the
vertices of S, so certainly it is a subsimplex of ).
if 5, < %

When t =0, F(s1, $2,0)

if s > 3,

both definitions give

= (vg —v1) + (vo — v2) + (v1 — vg) =0,

The e shapes should be removed from the diagrams
, as in Example 8.26

two elements is Z/2,

gluing lemma, 87



